Horizontal and Vertical Stand
User Manual




TABLE OF CONTENT

+ Parts and Components

¢ Lamp assembly

SAFETY INFORMATION

© Personal injury or product damage can result from improper
installation or assembly

© Please follow the guidelines before installing.

© Do not install or assemble if the product or hardware is
damaged.

© This product contains moving parts, please use with caution.

© Maximum load capacity should below 15KG.

@ All images provided are to be used as reference for installation.



PARTS AND COMPONENTS

o
. (5,
(1
om= e § &
— ., & °
0 (——  — —‘\ o ®
_ —a. QD “ﬁ o

oguugl{ o
No1 1.2M Pole x1
No 2 fix panel x1
No3 Long leg pole X2
No4 Short leg pole x2
No5 Long fixture X2
No6 Short fixture x2
No7 Lamp holder x1
No8 Rear wheel X2
No9 Front Wheel X2
No 10 M8 screw X8
No 11 M5 screw x24
No 12 M3 screw x4
No13 short L-type Allen Wrench x1
No 14 Cross screw driver x1

No 15 Allen wrench X1




INSTALLATION
o

1.Put No.3 Long leg pole and No.4 short leg pole above No.2 fix panel
as the above picture show

12)

2. Put No.1(1.2mpole)above system1 and fix with No.10 (M8 screws).
screw to the bottom by your hands first and then you can use No.14
(short L-type Allen Wrench) to fix it tight.

Note: make sure all the screws have well put on the holes before you
fixed one by one



3.Install No.8 (Rear wheel ) to the No4
(Short leg pole holes) on the back

4.Install No.9 (Front Wheel) to the No3
(Long leg pole holes) on the back

5. Slowly spin No.7 (lamp holder) from k
the top of the 1.2m pole and adjust the
height with No.13 and No.14 (loose or fix
the lamp holder)

Congratulations
you have finished the stand install parts!




Step for Install the Inferno 1400w

Match No. 5 (fixed long rod) with the fixing hole on the back of the therapy light, and
fix it with No. 11 (M5 screw).

Fix No. 6 (fixing short rod) above No. 5 (fixing long rod) with No. 11 (M5 screw).
Fix 2 # 11 (M5 screws) to the screw holes (arrow positions) in the same direction on
# 6 (fixing short rod), and the screws only need to be locked in 2/3 of the way.



Place the screw gap on the fixing panel of No. 7 (fixing frame) facing upward, and
place the 2 screws of No. 11 (M5 screws) on the therapy light vertically into the screw
gap.

Make sure the notched part of the Fix the remaining 2#11 (M5 screws)
lamp bracket screw hole is facing up to the fixing panel and lock all
screws securely

The above installation is complete!



Horizontal and Vertical Stand
User Manual



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

